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QUESTION 1

Which IBM Watson service is trainable? 

A. Discovery News 

B. Visual Recognition 

C. Tone Analyzer 

D. Personality Insights 

Correct Answer: B 

 

QUESTION 2

Which IBM Watson Natural Language Understanding service is used to identify Subject-Action-Object triples in
unstructured text? 

A. Linked Data Support 

B. Keywords 

C. Categories 

D. Semantic Roles 

Correct Answer: D 

Reference: https://console.bluemix.net/docs/services/natural-language-understanding/index.html#about 

 

QUESTION 3

A developer needs to classify a large number of images using IBM Watson Visual Recognition and submitting an image
at a time can take a long time. 

How can the efficiency of the service be improved? 

A. Specify only the classifiers you want results for in the classifier_ids parameter. 

B. Specify a high minimum score threshold you want results for in the score parameter. 

C. Adjust the image\\'s color resolution to be monochromatic (black and white). 

D. Resize images to be no larger than 1024 pixels in either width or height. 

Correct Answer: D 

 

QUESTION 4
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Which statement describes why more than one collection would need to be created in IBM Watson Discovery service? 

A. It is better to have multiple small collections than one big collection 

B. The first collection uses default configuration for testing and additional collections are needed for custom
configurations 

C. To keep similar file types in their respective collections 

D. The data may be so different that it doesn\\'t make sense for it all to be queried at once 

Correct Answer: D 

Reference: https://ibmcloud-watson-day.mybluemix.net/files/discovery_V3.1.pdf 

 

QUESTION 5

Which statement is a recommended practice when creating a chatbot with IBM Watson Assistant? 

A. Define different opening sentences in the dialog flow to prevent repetitive conversations where the dialog always
asks the same questions 

B. Start with the dialog before defining any intents or entities 

C. Increase the amount of the transcribed text to improve the quality and confidence of the extracted concepts 

D. Use a separate workspace for each intent 

Correct Answer: A 
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